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Electronic Clrcwts

Lecture 8.2: Operational Amplifiers (OPAMPs) b
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Difference Amplifier
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Summing Amplifier
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For the special case where R, = R».

- Vnm — E { VA T VB }
Ry



e
l !
R - ] -
Vin I_‘\ﬁﬁ - V.. Ve(t) = Vowr = —V,(0) ~RC / Vin(1)dt

1+=0



out

Vo = V- = V.,

/ioCy V),

Vy =V = —V
U Ry 1 ioC, 1+ ioR,C, ™
Vi = Vo (1 +iwR,Cy)
Vi = Vour = 1R, GV,
Using KCL and Ohm’s law,
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and so
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Logaritmic Amplifier

Vm Vuu
L-] = :I[) <€Xp(— !) — 1)
= R nVr

log(Viy) = log(Rly exp(—Vou /1V7)) = —Vour /1Vr + log(RIy)
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Left To Students (3)

= Design High-Pass Filter using Low-Pass Filter Design Example.
®  Design Band-Pass Filter using Low- and High-Pass Filter Examples.

= Design a Derivator using Integrator Design Example.
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